Group-C Employee Training Program CCAC Exam
Model Question Paper

e All questions are of 1 Marks
* No Negative Marking
e Time 90 Minutes

[ 1] Extension of MS-Word file is -
[A] .doc [B] .txt

[C] .ppt

[1]TH-§ I8 H Jeil BISoT T TFHCI §Idr.UH.

[A] .doc [B] .txt

[2] Where does a header appear in a document?

[A] At the top of every [B] At the bottom of

page every page
[2] T Slegiee & §=T gl giar ¢ (Jo0)?
[A] 8T U7 & IR [B] &Y OST & gad
IO HET W foger T W

[3] Landscape and portrait are

[A] Page orientation [B] paper size
[ 3] olzEhT 3R die¥e §

[A] 9oT 3R

[B] paper size

[C] .ppt

[C] Only on the first page

[C] ShdeT Ugel UsT TX

[C] page layout tab

[C] page layout tab

[4] Which of the following option (s) are types of spacing

[A] Line spacing [B] Paragraph Spacing

[C] Line spacing,Paragraph

Spacing

(4] F @ =l @ RQecy wfdT &1 vR §

[A] Line spacing [B] Paragraph Spacing

[C] Line spacing,Paragraph

Spacing

[ 5] Which of the following is called 'Microsoft King'-

[A] Bill Gates
[ 5] ‘HASHIATFe fhaT T gl ST B-
[A] foreT dreH

[B] Paul Gairi

[B] UTer N

[ 6] What is gutter margin?

[A] Margin that is [B] Margin that is
added to the left added to right margin
margin when printing when printing

[ 6] e ATfST & AT dcdd gl g-

Al Bfece & gag [B] Mifecr & &g
I AT & Ser g Ao 7 e
SATel aTell ATfoteT STe arelr Aot

[C] Kenneth Olsen

CEGEEKIR;G

[C] Margin that is
added to the binding
side of page when
printing

[C] OfeeeT & g
B89 A W
ST ST arer
it

[D] .exe
[D] .exe

[D] Only on the last
page

[D] hael MR O
g3

[D] All of the Options
[D] 3G et

[D] None of the Options
[D] 3ued H & HIg AL

[D] None of the above

[D] 3T A & IS
el

[D] Margin that is
added to the outside
of the page when
printing

(D] Rifece & &g
RSO I SUR ;)
R SISl STl arelt
AT



[ 7] Which of the following is not a part of MS-Office -

[A] D.B.M.S. [B] Excel [C] Word [D] Access
[ 7] T & & HiT TT-MS-Office T HWET Gl &?

AT A & . [B] A [C]Ts [D] TFHH
[ 8] Which Keyboard command is used to cut a file :

[A] Ctrl +C [B] Ctrl +X [C] Ctrl +A [D] Ctrl +Z
[ 8] TRl WIS HI e )Cut) Il I ST SIS-HAUS &-

[A] Ctrl +C [B] Ctrl +X [C] Ctrl +A [D] Ctrl +Z

[9] Window contains files in-

[A] Folders [B] System Tray [C] Set-Up [D] All the above
[9] AUl & FEdl W S §-
[A] Bresd & (8] s ¢ & [C] Fe3T & [D] 39T et
[ 10] Word wrap'is -
[A] An automatic [B] A step to attach a [C] Automatic [D] None of the above
distance of a line data placement of a word
on the next line
[10] T8 T &-
[A] ITSaT T [B] A step to attach a [C] Automatic D] 3WFd & & FIs

data placement of a word 5
on the next line

automatic distance

[11] A Software package that process textual matter and creates organised documents

[A] Processor [B] Language Processor [C] Word Processor [D] Page processor
[11] GTFeadIT YahaT ST textual matter AT AT ¢, 3R cgafeua ﬁﬁ'ﬂt\?ﬁ' fohUC LT §,
HETdT &

[A] Processor [B] Language Processor [C] Word Processor [D] Page processor

[ 12] Mail merge involves two files - main document and -

[A] File Document [B] Second Document [C] Data Source [D] Table
[12] AT Aol # HTT SIFGHAC & eTdl 90 @ Hiof @ 5o AFAfIT el & -
[A] File Document [B] Second Document [C] Data Source [D] Table

[13] The view that puts a blue line around each page that would be printed is the .....

[A] File Document [B] Normal View [C] Page Break Preview [D] Split View
[13] e &7 =TT gt arel 91 & °RI T& o oligel fAffd &Y & g,
[A] File Document [B] Normal View [C] Page Break Preview [D] Split View

[ 14] The term gigabyte refers to
[A] 1024bytes [B] 1024 kilobytes [C] 1024 megabytes [D] 1024 gigabytes



[ 14] INIMETEE A ACIY § -

[A] 1024 bytes [B] 1024 kilobytes [C] 1024 megabytes [D] 1024 gigabytes

[ 15] Which is not an input device

[A] Bar code reader [B] Printer [C] Keyboard [D] Scanner
[15]318 & oA AT o19c 3arad =Ieh &
[A] Bar code reader [B] Printer [C] Keyboard [D] Scanner

[16] Find the odd one out -
[A] Control Unit [B] Arithmetic Logic [C] Registers [D] Printer
Unit

[16] 3AH & PieT 3T & -
[A] Control Unit [B] Arithmetic Logic [C] Registers [D] Printer
Unit

[17] Which of the following views will not show your header and footer-

[A] Page Layout [B] Print Preview [C] Normal [D] All of the views
show headers and
footers

[17] 3T T T AT oY 8= AR FeX 1 AL @ -

[A] Page Layout [B] Print Preview [C] Normal [D] All of the views
show headers and
footers

[ 18] Header is-

[A] Any text printed at  [B] Any graphics [C] Any text or graphics [D] Any text or

the top of every page printed at the top of printed at the top of graphics printed at the

every page every page top of a particular
page

[18] 8T &-

[A] Any text printed at  [B] Any graphics [C] Any text or graphics [D] Any text or

the top of every page printed at the top of printed at the top of graphics printed at the

every page every page top of a particular
page

[ 19] Interms of computer storage, which of the following represents the largest unit of
measurement?
[A] Megabyte (MB) [B] Kilobyte (KB) [C] Gigabyte (GB) [D] Byte

[ 19] LT $ERUT & AW #H, FeT F A S A9 F I T2 5
[A] RITIETSE )MB) [B] fhelTSE )KB) [C] 3faTaTST )GB) [D] STSC

[20] In MS Word, what does double clicking a word do?
[A] It deletes the word  [B] It selects the word [C] It moves aword to  [D] It spell-checks the
a new location word

[20] UA- 98 # 39 fFafehdl & aRT UsE.U4.



[A] T fear S & [B]TAT (AT Fedde)  [C] AT TUHA W o [D] Faferer gumy

e STaT § ST ST § ST &
[21] To delete the selected sentence, we can press the following key-
[A] Del [B] Backspace [C] Both (Del) and [D] None of the above
(Backspace)

[21] 9 §U a9 &1 e & fow fohar doih)Key) 1 99T 3 &

[A] Del [B] Backspace [C] &IAT )Del) TT [D] 3TH & HIg LT
)Backspace)
[22] Ctrl+F is used to open which of the following windowbox in MS-word
[A] Find Window box [B] Save as window [C] Open dialog box [D] All of these options
box

[22] THUEEE & ctri+F O g fASieiad & @ler Sar &
[A] BTSSR [B] Save as window [C] Open dialog box [D] 3T & &Y

box

38T

[ 23] Gutter Position can be set in the following positions in  MS-Word

[A] Left and Top [B] Left and Bottom [C] Left and Right [D] Left Only

[23]THTHES H AT Afoaeg & O f5g Af9ad W X g ar §

[A] Left and Top [B] Left and Bottom [C] Left and Right [D] Left Only

[ 24] Orientation comes in which of the following tab in Ms-word?

[A] pagelayout [B] Data [C] View [D] All of these options

[24] TATHGS H ARucHsr fra &9 & 3mar §

EEEEIED [B] 3TeT [cl e, [D] 3ffer 3% &=t
3o

[ 25] In MS-Word Ctrl+shift+++ is used for

[A] subscript [B] Superscript [C] Data [D] View

[ 25] THUHAE & ctrl +shift +++ HT FAFT HGTT 81T &

[A] subscript [B] Superscript [C] Data [D] View

[26] In MS-Word Ctrl+s is used for

[A] For Save [B] For Edit [C] Open a dialog box [D] None of the
options

[26] THUHAS A ctri+s ST Y97 fhafod giar g

A 9T A & o [B] 33 el & fordr  [C] Openadialogbox D] 3WIad & @15
3TcqT AT

[27] In Ms-Word A4 Paper Size have the dimension

[A]" 6.28x"15.54 [B]" 7.28x"16.54 [C]" 6.28x"15.89 [D]" 8.27x"16.54

[ 27] Ms-Word A A4 Paper Size &l dimention TohdeT %’



[A]" 6.28x"15.54 [B]" 7.28x"16.54 [C]" 6.28x"15.89

[ 28] In MS-Word ,After pressing F8 three times Selects
[A] One sentence [B] One Paragraph [C] One Word

[28] THTHGS A dId ) UHS 9 e U FIT Jolde gl &

[A] U sentence [B] Teh PARAGRAPH [C] Tk T

[29] In MS-Word ctrl+shift+P is used for
[A] Open the Font [B] Save as dialogbox
dialogbox

[C] savedialogbox

[ 29] MS-Word & ctrl+shift+P &T 91T fopam Srar &

[A] Open the Font
dialogbox

[B] Save as dialogbox [C] save dialogbox

[30] In MS-Word ctrl+ down arrow is used for
[A] Move the one place [B] Move the cursor
below the cursor one place up

[C] Move the Cursor
one place Left

[ 30] "ctrl+ down arrow " ST F 9T A W FAT ?IHT %’

[A]| FE A TH [B] IR HI Teh [C] R H Th
Paragraph Down Paragraph 319 &t Paragraph Left el
F & o ¥ forr ¥ forr

[31] InMS-Word ctrl+end keys is used for
[A] To move end point  [B] To move start point
of the paragraph of the paragraph

[C] To move middle
point of the paragraph

[ 31] Ctrl+End ST MS-Word & Y31 fRaT 1T &

[B] Paragraph & [C] Paragraph &
Startpoint deh SieT & Middle point deh
o S & fordr

[A] Paragraph &
Endpoint e STTel &
forr

[32] In MS-Word ctrl +j is used for which of the following alignment
[A] Justify [B] Right [C] Left and Right

[ 32] Ctrl+j is used ST MS-Word & 91T fHAT SATAT &
[A] Justify [B] Right [C] Left and Right

[33] In MS-Word F12 Is used for

[A] Save As dialog box [B] Open dialog box [C] Save dialog box

[33) MSWord & F12 SATeT AT ST &

[A] Save As dialog box [B] Open dialog box [C] Save dialog box

[D]" 8.27x"16.54

[D] none of thes
options

[D] 3WIFT & FIS
3TcgeT A8y

[D] All of these options

[D] All of these options

[D] none of these
options

[D] 3RIFT & HIg
3T g

[D] none of thes
options

[D] 3RIFT & HIg
3T AgY

[D] none of thes
options

[D] 3UIFT & FIS
3fTcgeT A8y

[D] none of thes
options

[D] 3WFd & FiS
3HTCHT 8T



[ 34] How many types of layout of page in MS Word

[A] 4 (B] 7 [C]18

[ 34] THUHAS H o33 fohdsl YR &1 T &

[A] 4 [B] 7 [C]18

[ 35] ClIrl+E Is used in MS-Word ?

[A] For Centre [B] For Left Alignment  [C] For Right

Alignment of text of text Alignment of text

[ 35] MS-Word & ctrl+E &T 93T foham Srar &

[A] For Centre [B] For Left Alignment
Alignment Of text of text

[C] For Right
Alignment of text

[36] Ms-Word is

[A] System Software [B] Application [C] Hardware

software

[ 36] THUHAS &

[A] Eea dFcazX  [B] 3TTCerohereT [C] BTEaR
FFeazR

[37] In MS-Word Line Spacing is used for

[A] To change the [B] To change the line
paragraph spacing of spacing of text

text

[37) THUHAS oTgel 3% AT T Iof fordford fomar Sirar &
[Al CFEE & [B] TFHC & oIS [C] For Centre
Paragraph TOTHT HT  TARHT A I et Alignment of text
I A & o & o

[C] For Centre
Alignment of text

[38] In MS Word shrink word is used for
[A] Edit [B] To decrease the
font size

[C] Indent

[ 38] MS Word A shrink word ST ST fRaAT SATAT %’

[A] Edit [B] To decrease the [C] Indent

font size

[39] In MS-Word, Publish Tab comes in which Tab

[A] View [B] Office button [C] Review

[ 39] MS-Word & Publish Icon frg &9 & 3mar §

[A] e, [B] 3R dceT [c] Reg

[40] To Add picture in Ms-word document ,in which tab we have to go?

[D]15

[D]15

[D] None of these
options

[D] 3WRIFT H T IS
ool

[D] None of these
options

[D] 3WFd & FiS

3T g

[D] None of these
options

[D] 39FT & FIS
g A8y

[D] None of these
options

[D] 3WIFT & FIS
3fTcgeT A8y

[D] None of these
options

[D] 3WIFT & FIS

v



[A] Edit [B] Insert [C] reference [D] None of these
options

[ 40] THUHTS SHFYHAC H el add a1 & o fora & & S gem

NEE [B] 3o1TE [C] reference [D] 3WFd & FIS
g J8

[41] In MS-Word ,Zoom comes under which tab ?

[A] insert [B] View [C] Review [D] Home

[ 41) UHUHTS STHgAC H S[F &1 o8 fhe & & 31el ©

[A] insert [B] e [C] Review [D] Home

[42] If you need to change the typeface of a document, which menu will you choose?

[A] Edit [B] View [C] Format [D] Tools

[ 42] FRET STFgATE & TFUHH HT deolel & ToU v His &1 TAra fohar e g2

INEES (B] [C] Format [D] Tools

[43] Make the most appropriate option statement-

[A] Mail Merge can be  [B] Mail Merge can be  [C] Mail merge can be [D] All of the above
used to print the form  used to print the form  used to print
letters letters and mailing envelopes

labels

[ 43) FATRIh IUGF AT Toi-

[A] A FST BIHCT - [B] AT Hol BIH X [C) AT A TAdT  [D] 3Wierd Tafr
Bec = & fov 3R Afder Jear Bee A & T
g fFar STar & fee e & fow T ST §

e SITar &



[44] F5Key is used for which work in excel-

[A] Spelling [B] Go-To [C] Help [D] Print

[44) TFAST H T8 o TAI F5 A A AT fhg S g e A foram e -

[A] TdforeT [B] FMe- [C] o9 (D] e

[ 45] In Excel, the symbol we use to make absolute reference is —

(Al # [B] S Cl@ (D]!

[45] TS # fore fFael &1 yleT vedlege Ribeq & fow aed ¢

[A] # [B] [Cl@ (D]

[46] What happens when you press Ctrl + X after selecting some cells in Excel?

[A] The cell content of  [B] The cells selected [C] The selected cells [D] The selected cells
selected cells are marked for cutting  are deleted and the are deleted and cells
disappear cells are shifted left are shifted up

[46] T G @1 § ST 3T TFAel A FT ol &I Holde o & d1e Ctrl+X ald &2

[A1 T g Feq T [B] T g3 Hed [T &5 Fed AT (D] TN g dew fAe
STeT IMAS & ST & Hhied & v RAfcga Sy § v e ST § d9 dod
RIS It 3R @ St IR Hr IR Waw
g ST &

[47] Inanew Worksheet, cell Al contains, 5, cell A2 contains 7 and cell A4 contains 9. If cell B1
contains = COUNT(A1:A4), the following result will be displayed in cell B1 -

[A]9 [B] 3 [Cl4 [D] 21

[47) Uk Thafle H AT A1H 509 AT A2H 730 A4 F ofo@r & afe @ B1=COUNT (A1:
A4) A Tl B1 T IRUTH T YeiAd g1am-

[A]9 [B] 3 [C] 4 [D] 21



[ 48] After merging 2 or more cells in Excel, it will

[A] Contain upper left [B] Contain all of the [C] Contain the right [D] Clear all of the data
most cell data only data in each cell most cell data only

(48] TH TH UFAA & & AT &I § 378 T & FHol el ¥ 8T ¢

[A] Contain upper left [B] Contain all of the [C] Contain the right [D] Clear all of the data
most cell data only data in each cell most cell data only

[49] Data can be arranged in ascending or descending order by using

[A] Sort Command [B] Sort Command [C] Sort Command [D] None of these
from Table Menu from Data menu from Tools Menu
[49]ﬁmmmwmwgmaﬁmaaﬁ§¢ammaﬁgvamﬁmﬁuaw
Tqohd &

[A] Sort Command [B] Sort Command [C] Sort Command [D] 390 § & Elflé'
from Table Menu from Data menu from Tools Menu u__@_

[ 50] Which of the following chart can be created in ms-excel

[A] Pie chart [B] Line chart [C] Area chart [D] All of the above

[50] 3T & i TT IE TH TH USRS H IATIT ST Thel &

[A] Pie chart [B] Line chart [C] Area chart [D] 3Tl 37T% feaT
3ieqsT

[ 51] To select several cells or ranges that are not touching each other, you would ........... while

selecting

[A] Hold down the Ctrl  [B] Hold down the Shift [C] Hold down the Alt [D] Hold down Ctrl +
key key key Shift key

[51]%S A IT I ST HHATE 76T g-, B oAl & fAT 508 & v fdeveq T uhal Ll

[A] Hold down the Ctrl  [B] Hold down the Shift [C] Hold down the Alt [D] Hold down Ctrl +
key key key Shift key



[ 52] Which of the following is not a tool for analyzing spread-sheet data?

[A] What-if analysis [B] Mail merge [C] Goal seeking [D] Sorting

[52]3aTH & led T3 M STer & TaRelYor & yier fohdl Sl arell Tf =81 o-

[A] SgT3csW faReVUT-  [B] Aol Hol CRICKIET [D] ATfEaT

[ 53] Which key is used as Help key for a specific command-

[A] Shift [B]F1 [C] Enter [D] Tab

[ 53] forelt AfAse FAUS & TR & FEIar o & v g Y (Key) F1 393097 7 oF &2

[A] Shift [B] F1 [C] Enter [D] Tab

[ 54] Which is not a measuring unit in computer-

[A] MB [B] KB [C] GB [D]JB

[54] fesT & & Hief-ATIF 5HS 6T & W FFgeX H-

[A] MB [B] KB [C] GB [D] JB

[ 55] Which of the following is not an application software-

[A] Tally [B] Spreadsheet [C] Desktop publishing  [D] UNIX

[55] fole=T # & lF-AT UCellehelel AIFeaT =gl 8-

[A] & EIEEENI [C] S¥eherT dfsafier (D] Ifaera

[ 56] Which is not a memory unit-



[A] Floppy [B] Zip disk [C] RAM

[ 56] AIT@d & & T AFRY sHS 8T 8-

[A] FFeTEhY [B] o7 & [c1¥s

[57] OneKBis equal to -

[A] 1, 024bits [B] 1, 000bytes [C] 1, 000bits

[57] Tk KB sRTeX &-

[A] 1,024 foeq [B] 1,000 STSCH [C] 1,000 fsc&

[ 58] How many digits are used in binary:

[A] 6digits [B] 3digits [C] 2digits

[ 58] STSaRT HEAIHT H TgeFd gl &

[A] BF HEIR [B] et wEATd [C] & HEarRt

[59] In MS-Excel , Freeze panes comes under which of the following tab ?

[A] Data [B] View [C] Review

[ 59] THUH UaFdd H Freeze panes Thd ¢ & 31T §

[A] Data [B] g [C] Review

[ 60] In Ms Excel Conditional Formating does ?

[A] Highlighting the [B] Coloring the [C] reference
interesting cells interesting cells

[D] Plotter

[D] TlieX

[D]1, 024bytes

[D] 1,024 d1cH

[D] Adigits

[D] TR EEIR

[D] Home

[D] Home

[D] All of these options



[ 60] THUY TFOoT H Hholl3AqTel BRATCT & AT 8T &

[A] Highlighting the [B] Coloring the [C] reference [D] 3fTeT 3% feor
interesting cells interested cells v
8 3ffeaeT

[61] In MS-EXcel , Formula starts with which of the following ?

[A] % [B] + [C] = [D] All of these options

[61] THUH TFAS H Formula [T & & [&Od start g1ar &

[A] % [B] + [C] = [D] 3iTeT 3iTH feor

[62] The default header in Ms-Excel?

[A] User Name [B] Date And Time [C] Footer [D] None of these
options

[ 62] THUH Tl A default Header Q7T & & &iT &

[A] User Name [B] Date And Time [C] Footer (D] RLEGREGD amé-

v

[ 63] The Software that contains rows and columns

[A] DataContainer [B] AbstractSheet [C] Spreadsheet [D] None of these
options

[63]dg Software f[S/HH  rows and columns glal %’

[A] DataContainer [B] AbstractSheet [C] Spreadsheet (D] IFd & amé-

v

3T g

[ 64] The Transpose comes under which of the following tab

[A] Close the System [B] Paste [C] Cut [D] None of these
options



[ 64] THUH TaFddT H Transpose foh® ¢ & 3TaT &

[A] Close the System [B] Paste [C] Cut

[ 65] In Ms-Excel Option Tab Comes under which tab ?

[A] Task Bar [B] Title Bar [C] Menu Bar

[ 65] THUH THAd H Achsiacs fhd IR 9 AT &

[A] Task Bar [B] Title Bar [C] menu Bar

[66] In Ms-Excel formula Acos Function is

[A] Financial [B] trigonometry [C] Statistical

[ 66] Ms-Excel formula A Acos Function %’

[A] Financial [B] trigonometry [C] Statistical

[67] In Ms-Excel, H standsin HLOOK

[A] Home [B] Header and Footer  [C] Horizontal

[67] Ms-Excel @ HLOOK & H stands for

[A] Home [B] Header and Footer  [C] Horizontal

[ 68] What is the use of Pivot table ?

[A] To maximize data [B] To minimize data [C] To Summarize data

[D] 3WRIFT & FIS

3T g

[D] None of these
options

[D] 3Tl 37T fear

[D] None of these
options

D] 3RFT H H Fis
GH]

[D] None of these
options

D] 3RFT H § Fis
sTer

[D] All of these
Options



[ 68] Ms-excel A pivot table =T gaeT fpar Srar %’

[A] To maximize data [B] To minimize data [C] To Summarize data [p] 3iTer 3{T% fe=T

3TCHT

[69] In MS-Excel Hide comes under which of the following tab

[A] Edit [B] Review [C] View [D] None of these
options

[ 69] Ms-excel #H Hide T tab & 37T %’

[A] Edit [B] Review [C] View [D] 390 & & Eﬁé’
oTel

[ 70] The valid zoom percentage of MS-Excel is

[A] 2 [B] 5 [C]3 [D] None of these
options

[ 70] Ms-excel & dfers S Iferd &

[A] 2 [B] 5 [C]3 [D] 3WRIFT & T FIs
oTel

[ 71] In MS-excel Word Art is used for

[A] Simple Text [B] Decorative Text [C] Italic Text [D] None of these
options

[71] Ms-excel ¥ TS3TTC T T=A9T foham Sram %’

[A] Simple Text& ol [B] Decorative Text& [C] Italic Text F o [D] 3WFd H & Eﬁé’
fory ol

[72] In MS-Excel Ctrl+b is used for

[A] To Bold the text of  [B] View [C] To itilic the Text in [D] None of these
cell cell options



[ 72] THUHUFAS A Ctri+b &l GA9T fHarT  S1am &

[A] To Bold the text of  [B] View [C] Toitilic the Text in
cell cell

[ 73] In Ms-Excel workbook is a collection of

[A] Worksheets [B] Charts [C] Worksheets and

charts

[ 73] Ms-Excel & Eléw_slﬁ Tdh Collection %’

[A] Worksheets [B] Charts [C] Worksheets and

charts

[74] In Ms-Excel , which of the following is not the valid data type?

[A] Number [B] Label [C] Character

[ 74] Ms-Excel & leT @T dforg 31eT €39 =1gr §

[A] Number [B] Label [C] Character

[ 75] In Ms-excel average is calculated with which of the function ?

[A] sum [B] Max [C] Min

[ 75] Ms-Excel p= Average FO Arer JTaT %’

[A] sum [B] Max [C] Min

[ 76] An worksheet can have a maximum number of ............ rows

[A] 56535 [B] 60987 [C] 67545

D] 3RFT H H Fis
GH]

[D] None of these
options

D] 3RFT H H Fis
GH]

[D] None of these
options

D] 3RFT H H Fis
GH]

[D] None of these
options

D] 3RFT H § Fis
sTer

[D] 78654



[ 76] Teh Eﬁ‘h_«i? A maximum .......... Rows @FT %‘

[A] 56535 [B] 60987 [C] 67545

[ 77] Files created with Lotus 1-2-3 have an extension

[A] XLS [B] doc [C] 123

[77] S B8 LOTUS-123 H § 3HPT TFHCLU T &Il &

[A] XLS [B] doc [C] 123

[ 78] In Ms-excel, the intersecting point of rows and columns is

[A] Spreadsheet [B] Documents [C] Cells

[D] 78654

[D] None of these
options

D] 3RFT H H Fis
GH]

[D] None of these
options

[78]TH TH T A intersecting point of rows and columns T T hal SITdl %’

[A] Spreadsheet [B] Documents [C] Cells

[79] InMS Excel Cellpointer is called

[A] icon [B] Blinking cursor [C] Active cell

[79] TH TH UFAA H Cellpointer & gl STaTm &

[C] Active cell

[A] 3TTSeheT [B] feeifehaT e

[ 80] The port which transmits 8 bits together at a time is

[A] Dedicated port [B] Parallel port [C] SCSI Port

D] 3RFT H H Fis
GH]

[D] None of these
options

D] 3RFT H § Fis
GH]

[D] USB Port



[80] o/ 9 & U THEY H A1y Ary-8 Ne @A g o & 39 e &

INEEE TR [B] NeTel O [C] SCSI TIC [D] USB Q&

[81] A computer can solve-

[A] Arithmatic [B] Logical problems [C] Both (Arithmatic [D] None of the above.
problems problems) and (Logical
problems)

[81] FHFCYN §el T Hebell o-

[A] IO FHET [B] dTfeher THTAT [C] T F1forcT ) [D] S8 & FIS LT
diféheh) TT (HHET
gEEN(

[ 82] The following are all computing devices, except:

[A] Notebook [B] Cellular telephones  [C] Folder [D] Personal digital
computers assistants

[ 82) e A Wl spegfear fBaraw g, far:

[A] Notebook [B] Cellular telephones  [C] Folder [D] Personal digital
computers assistants

[ 83] Which of the following you can use to view movies

[A] Power Point [B] VLC Media Player [C] Windows Mail [D] Windows Photo
Gallery

[83] 3T & TohEehl WleT §A WIS 3T Hal &1 dEe ford X &

[A] Power Point [B] VLC Media Player [C] Windows Mail [D] Windows Photo
Gallery

[ 84] Joystick is an

[A] Input Device [B] Output Device [C] Both [D] None of these



[ 84] Sagi¥es § -

[A] Input Device [B] Output Device

[ 85] A computer cannot “boot” if it does not have the following software -

[A] Compiler [B] Loader

[C] Both

[C] Operating System

[85]SeTH & leT AT AET Bl T HTY §C At P Hehell &-

[A] Compiler [B] Loader

[86] TCP/IPis a:

[A] Network Sotware [B] Prootocol

[86] TCP/IP T & ?

[A] Network Sotware [B] Prootocol

[87] TCP/IP mainly used for

[A] File Transfer [B] E mail
[87] TCP/IP &T Il gl BT &

[A] File Transfer [B] E mail

[ 88] Which is the type of port:

[A] Serial [B] Parallel

[C] Operating System

[C] Network Hardware

[C] Network Hardware

[C] Remote Login
Service

[C] Remote Login
Service

[C] AGP

[D] ST & @IS TEl

[D] Interpreter

[D] Interpreter

[D] None of the
Options

[D] ST & @IS Tgl

[D] File Transfer,E
mail,Remote Login
Service

[D] File Transfer,E
mail,Remote Login
Service

[D] Serial,Parallel,AGP



[88] 318 & WIC & TI5Y HiT AT &

[A] Serial [B] Parallel [C] AGP

[ 89] Which IP address is reserved for loop back or local host:

[A] 192.168.0.0 [B] 127.0.0.0 [C] 127.0.0.1

[ 89] il T IP address loop back or local host& ToId reserved %’:

[A] 192.168.0.0 [B] 127.0.0.0 [C] 127.0.0.1

[90] The size of the IPv4 is:

[A] 16BITS [B] 32 BITS [C] 64 BITS

[90] IPv4 T TS ¢ :

[A] 16 BITS [B] 32 BITS [C] 64 BITS

[91] The subnet mask 255.255.0.0 belongs to:

[A] 16BITS [B] Class A [C] Class C

[ 91] subnet mask 255.255.0.0 ¢ & fohd Folld & 3TdT &

[A] 16 BITS [B] Class A [C] Class C

[92] InHTTPS ‘S’ is stands for:

[A] Simple [B] Same [C] Secure

[D] Serial,Parallel,AGP

[D] 127.127.127.127

[D] 127.127.127.127

[D] 18 BITS

[D] 18 BITS

[D] Class D

[D] Class D

[D] Side



[92] HTTPSH ‘S’ AT § ?

[A] Simple [B] Same [C] Secure [D] Side

[93] Which of the following is not a type of file system for Windows based operating system?

[A] NTFS [B] FAT 32 [C] FAT 16 [D] FAT 14

[93] ST S€g TR farea & wgd BFcH &1 Th R e # & ST 781 8-

[A] NTFS [B] FAT 32 [C] FAT 16 [D] FAT 14

[94] Which bar shows the name of the currently opened window

[A] Status bar [B] Menu Bar [C] Tool bar [D] Title bar

[94]mwaéﬁaéﬂmﬁqﬁ§é%ﬁwamﬁmwﬁqaﬁiaaw%

[A] Status bar [B] Menu Bar [C] Tool bar [D] Title bar

[95] What does the BCC mean on the E-Mail screen?

[A] Border courtesy [B] Blind carbon copy [C] Broad copy [D] None of the above

copy certificate

[95]$ AT ThIeT FH-BCCHT FAT Ty &

[A] Border courtesy [B] Blind carbon copy [C] Broad copy (D] g;pir o aﬁrg- ;@-

copy certificate

[96] A host on the Internet finds another host by its

[A] postal address [B] electronic address [C] IP address [D] None of the above



[ 96] SoCT=C T Teh BIEC fohfeh @RI A BI¥C I gl -

[A] 9IS UdT SaRT  [B] Selagifaieh TaT [C] HTSUAT GarT .41, [D]SIH & IS g
CART

~

[97] The Basic features of web browsers :

[A] Search and display ~ [B] Send and receive [C] Switch over [D] All of the above
various websites the e-mail message between various
websites

[97] 9 ST3oR & AT &l g-

[A] AffesT deaTSel -  [B] SAA HIU Fl - [c] 3@ J9grsel - [(D]EWM 3R T &
N @ 3R AT 3T e gl - &g 3gell
e FT HLAT

[98] Modem refersto:

[A] Modulation [B] Modulator [C] Modulator and [D] Modem modes of
Demodulator communication

[ 98] AISH TFI=Ud &-

[A] AT ORI [B] ATgeleY [ClATgeleY 3R f3- (D] JMTeTaver i -
ATZA hr AISH aET

[99] Linuxis -

[A] An operating [B] A disease [C] A chemical [D] A Computer virus

system

[ 99] "elTSaArd" (Linux) Teh-

[A] 3TRTET RFeH  [B] Teh SART 1 [C] Teh hideh T [D] U &HFoge &l
FT AH & AT g AT g IRRE &

[ 100] Identify the odd one out :

[A] Netscape navigator [B] Internet Service [C] Internet Explorer [D] NCSA Mosaic
Provider



[100] 3T & it Feat B-

[A] Netscape navigator [B] Internet Service [C] Internet Explorer [D] NCSA Mosaic
Provider

[ 101] IP address of a packet is normally analyzed by

[A] Switch [B] Hub [C] Router [D] Modem

[ 101] fREY Sohe &7 3MS-uar AreRUTaAT fawefa fRar Srar § ..

[A] & [B] &« [C] T3 [D] AISH

[ 102] Software which converts assembly language in to machine language is called
[A] Compiler [B] Interpreter [C] Linker [D] Assembler

[ 102] QAT TTFECIIX ST TAFT AT H TG AT S #AMA 9 F SSolar g, F ded
&

[A] FFEUTSOR [B] SeclUeX [C] foipT [D] 3TAFFR

[103] Full form of D.V.D. is-

[A] Digital Video Disk [B] Dynamic Video Disk  [C] Digital Versatile [D] All of the above
Disk

[103] 3Y) .8Y.d1.DVD) &I T ATH &-

I EEESRCUER [B] saifAe difsar  [c) BfSiear awfersar [D] All of the above

[Ef=0 IS0 f3Eh

[ 104] Brain of computer is called -

[A] Memory [B] Key board [C] Hard disk [D] C.P.U.

[ 104] HFCGX & ATETSH A Hgd 8?

[A] F7f [B] il el (SEREST [D] &g, .

[ 105] The first page that you normally view at a Web site is its :
[A] Home page [B] Master page [C] First page [D] Banner page



[105] 39 —@3e W @ arem ggar 97 giar &-

[A] BTHYST- [B] ATEEIISI- [C] TgeITIST- [D] SeRUS-

[ 106] Which of the following is related to internet security?
[A] MIT [B] Firewall [C] DSL [D] W3C

[106] 378 & WieT FeTcTele GI&T & Fral-ud g-

[A] UH.E.3TS. [B] ThIER@Tel [C] Sr.Ter.TH. [D] S5 3 4.

[ 107] To be effective, an anti-virus should be
[A] Replaced regularly  [B] Never updated [C] Updated regularly [D] Updated once a
year

[ 107] 39437 81 & o T aRRy &' g1 AIfgu

[A] Replaced regularly  [B] Never updated [C] Updated regularly [D] Updated once a
year

[ 108] The resolution of a printer is measured in:
[A] Megabits [B] Hz [C] Dots perinch (DPI)  [D] Inches (diagonal)

[ 108] f¥eX & YSogeet &I ASRHAC fhar ST § -
[A] Megabits [B] Hz [C] Dots perinch (DPI)  [D] Inches (diagonal)

[ 109] The convenient place to store contact information for quick retrieval is :
[A] Message box [B] Address box [C] Address book [D] None of the above

[109) T TfeAaRRor & fAw Fae & ot # & gl FaRd FT 30T Qe &-
[A] Message box [B] Address box [C] Address book [D] 318 & aﬁré' E




